RE7AN L B 02

1. ROHZEHEALBEBICE L. (SH1T40F, Afk24208, B#25 508, C#k4sr)

(1)  48% 1% (2)  20EM 120
(3)  5000m? : 7.5ha (4)  2.4kg : 600000mg
(5) 19.2Y v FJL:36000cm3 (6)  HpE 90km : FH3E 12m : 4% 600m
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2.

RO Z A BEIicE L. (SHk24, A2 50, B33 30%, C#549)

(1)  980kg : 1.4t (2)  450cm? : 0.05m?2
(3) 703V YYIFL:03FTYy L (4) W 150km : #P3E 25m
(5) 9900 b : 2.5 ] (6)  0.84ha : 48000m?2 : 0.012km?
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REFAN & B 02 WRE®H

1. ROHZEHEALBEBICE L. (SH1T40F, Afk24208, B#25 508, C#k4sr)

(1)  48F:1% (2)  210Ef: 120 &

=48 %% : 60 B (90 F£ x 2) : 120 F£

=4:5 &R =3:2 -&Z
(3)  5000m? : 7.5ha (4)  2.4kg : 600000mg
= 50a : 750a — 2400g : 600g
=1:15 &Z =4:1 &Z
(5)  19.2Y v )L :36000cm? (6)  IREE# 90km : B 12m : 573 600m
= 19200cm? : 36000cm? = (21000 /93 : (12 x 60m/4T) : 600m/ %7
=8:15 &Z = 1500 : 720 : 600

=25:12:10 -&ZX
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2. ROtz eREgthice k. (SHk2,

(1)  980kg : 1.4t

= 980kg : 1400kg

=7:10 &Z

(3) 7503V VYvRL:03FTTYy R

=750 : 30

3
i

=25:1

(5) 9900 b : 2.5 W]

= 9900 ¥ : (2.5 x 3600) ¥

=11:10 &Z

© B - BREZEELOGD

A 243508, B#,34 308, C#547)

(2) 450cm? : 0.05m?

= (450cm?) : (0.05 x 10000cm?)

=9:10 &Z

(4)  FEpE 150km : 3% 25m

= 150km/h : (25 x 3.6km/h)
= 150:90

=5:3 &Z

(6)  0.84ha : 48000m? : 0.012km?

= 84a : 480a : 120a

=7:40:10 -&Z
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